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Run 5114 triggerwise, sums: All
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Erlnaa: 130

Magn: 14582000 +- 1503,7583

0d Dwre: 1884973087 - 1084 7RI
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Run 5114 triggerwise, sums: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000
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Run 5114 triggerwise, sums: Beam OFF
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Erbnaa: 150

Magn: HEEI00E + 15037581
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Run 5114 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




